ENEE3304 Differential Amplifiers Problem

_7.1-4 Find i, in terms of the common- and differential-mode signals in Fig. P7.1-4.
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~Vep hpey=hp,  FIGURE P7.4-4

A.4-1 In Fig. P7.4-1 hy,, = 100, and Ay, = 200. If R, = 1.5kQ, r, = 4 kQ, R, ='6 kQ,

Vee = 10V, Vg = 5V, and R, is a 100-Q potentiometer, find () R, and R; and (b) the
CMRR.
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-4.6-6 Find (@) quiescent conditions throughout the circuit of Fig. P7.6-6, (b) v,/i; and v,/i,,
and (c) Z;, Z,,, and Z,,,.

h,, = 100 for all transistors FIGURE P7.6-6

~7.7-2 In Fig. P7.7-2 the transistors are identical with hee = hye = 200 and h,, = 10 uS at
5 mA.

(a) Find R, to set the dc component of the output equal to 0.
(b) Find the small-signal gain v, /v,.

012V
10 kO
Tl
6V
; 15 kQ l) +
+ m T2 vy
v; —
B R, =33 kS
6V ’ FIGURE P7.7-2
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